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Name: __________________________________


1
For the function [image: image1.png]


, the inverse function, [image: image2.png]271 (x)



, equals

	1)
	[image: image3.png]



	3)
	[image: image4.png]




	2)
	[image: image5.png]



	4)
	[image: image6.png]






2
If [image: image7.png]x) = 4x +4



, then [image: image8.png]s
(x)



 equals

	1)
	[image: image9.png]



	3)
	[image: image10.png]




	2)
	[image: image11.png](x-4)°




	4)
	[image: image12.png]






3
Given [image: image13.png]


 and [image: image14.png]Fl = Ax-3k



, the value of b is

	1)
	1
	3)
	3

	2)
	[image: image15.png]



	4)
	[image: image16.png]






4
What is the inverse of [image: image17.png]


?

	1)
	[image: image18.png]F = 3x 42




	3)
	[image: image19.png]Fl = Axe2





	2)
	[image: image20.png]



	4)
	[image: image21.png]7 = +4x
)=
S
2







5
For the function [image: image22.png]Ax)=(x-3)7+1




, find [image: image23.png]7
%)



.


1
ANS:
4

[image: image24.png]
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062419aii

2
ANS:
2

[image: image25.png]y=3x+4
x=3fy +4
xa-ify

(x-4)7 =y




REF:
012519aii

3
ANS:
2

[image: image26.png]2x+3 =y




REF:
012419aii

4
ANS:
3

[image: image27.png]2x+2 =y




REF:
061815aii

5
ANS:


[image: image28.png]w=(y-3)7+1
-1=(y-3)
Nx-1=y-3
NMx-1+3=y
Pl =x-1+3
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